Algebra1: 6.1 Warm Up Name

Solving by Substitution

1. Which equation would you rather solve for x?

x+4y =12
-3x+y =10

2. Solve each equation for x.

x+4y =12
-3x+y=10

3. Which equation would you rather solve for y?

x+4y =12
-3x+y=10

4. Solve each equation fory.

x+4y =12
-3x+y=10
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- Which equation would you rather solve for x7

X+ 4y =12
-3+ y=10
| would rather solve the first equation for x.

Solve each equation for x.
¥+ 4y =12
-3+ y=10

x+dy=12
X+ 4y —4dy =12 — 4y
x=12 — 4y

—dx +y=10
—x+y—y=10—y
—dx=10—y
—dx+-3=(10—y + -3
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. Which equation would you rather solve for y?

X+ 4y =12
—dx + ¥ =10
| would rather solve the second equation for y.

. 3olve each equation for y.

¥+ 4y =12
—dx+y=10

X+ 4y=12
x—x+4dy=12—x
=12 —=x
dy+d=12—x)+4
y=3-4

—dx + =10
—dx+dx+y=10+ 3x
¥=10+ 3x



